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Instructions to Candidates :

1) Students who have attended 30 marks I-A scheme will have to answer for
total of 70 marks.

2) Students who have attended 20 marks I-A scheme will have to answer for
total of 80 marks.

3) Question-V is compulsory for 80-marks scheme only.
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The newspaper tells us what is happening all over the world. Within a very few
hours of any great event, no matter in which part of the world it occurs. We can
read about it in the newspaper. If there is a famine in India or an earthquake in
Japan, or a railway accident in Australia, we are told about it in the newspapers.
The newspapers help to keep the people of different countries in close touch with
each other. They play an important part in the world of today.
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